
(1)VIII-SOCIAL SCIENCE

1.	 Where is the largest  Solar plant located in India?			    

(a)	 Rajasthan	 (b)	 Gujarat			    

(c)	 Maharashtra	 (d)	 Himachal Pradesh	  
Hkkjr dk lcls cM+k lkSj la;a=k dgk¡ fLFkr gS\		   

(a)	 jktLFkku	 (b)	 xqtjkr					   

(c)	 egkjk"Vª	 (d)	 fgekpy izns'k

class (d{kk) % VIII
social science
(lkekftd foKku)

(Summative Assessment - II)
(ladyukRed ewY;kadu & II)

Time : 3 Hrs.		  Maximum Marks : 90
fuèkkZfjr le; % 3 ?kaVs			   vfèkdre vad % 90
General Instructions :
1.	 There are 31 questions  in all.
2.	 Marks for each question are indicated against it.
3.	 All questions are compulsory.
4.	 Write the same question number as given in the question paper while answering  
	 a question in your answer book.
5.	 (i)	 Answer to MCQs of 1 mark each should be out of (a), (b), (c) or (d) only.
	 (ii)	 Answer to each question of 3 marks should not exceed 60 words.	
	 (iii)	 Answer to question of 5 marks should not exceed 120 words.
6.	 Both the Maps should be attached inside the answer book.
lkekU; funsZ'k %
1-	 bl iz'u i=k esa dqy 31 iz'u gSaA
2-	 izR;sd iz'u ds vad mlds lkeus fn;s x;s gSaA
3-	 lHkh iz'u vfuok;Z gSaA
4-	 viuh mÙkj iqfLrdk esa mÙkj fy[krs le; iz'u&i=k esa fn;k x;k iz'ukad gh fy[ksaA
5-	 (i)	 1 vad okys cgq&oSdfYid iz'uksa ds mÙkj (a)] (b)] (c) vFkok (d) esa ls gksus  
		  pkfg,A
	 (ii)	3 vadksa ds çR;sd iz'u dk mÙkj 60 'kCnksa ls vf/d ugha gksuk pkfg,A
	 (iii)	5 vadksa ds çR;sd iz'u dk mÙkj 120 'kCnksa ls vf/d ugha gksuk pkfg,A
6-	 nksuksa ekufp=k viuh mÙkj iqfLrdk ds Hkhrj layXu dhft,A
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paper contains 31 questions 
and 10 printed pages.
Ñi;k tk¡p dj ys a fd bl 
iz'u&i=k esa 31 iz'u rFkk 10 Nis 
gq, i`"B gSaA
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2.	 Identify the crop that grows in the Ganga-Brahmaputra delta of West Bengal. 
(a)	 Tea		  (b)	 Cotton			    
(c)	 Maize	 (d)	 Jute			    
ml iQly dh igpku dhft, tks xaxk&czãiq=k MsYVk dh Hkwfe esa mxrh gSA			
(a)	pk;		 (b)	 dikl					  
(c)	 eDdk	 (d)	 twV

3.	 The industry like Maruti Udyog? Comes under which sector?	  
(a)	 Private Sector	 (b)	 Joint Sector		   
(c)	 Public Sector	 (d)	 Co-operative Sector	  
ek:fr m|ksx fdl {ks=kd ds varxZr vkrk gS\						    
(a)	 futh {ks=kd	 (b)	 la;qDr {ks=kd				  
(c)	 lkoZtfud {ks=kd	 (d)	 lgdkjh {ks=kd

4.	 What attracts a large number of migrants to Saudi Arabia?	  
(a)	 Good Climatic	 (b)	 Abundance of petroleum	  
(c)	 Availability of transport	 (d)	 Less industrial settlements	  
lkÅnh vjc esa ,slk D;k gS tks izokfl;ksa dks vf/d la[;k esa vkdf"kZr djrk gS\		
(a)	vPNh ty&ok;q	 (b)	 isVªksfy;e dh cgqyrk			 
(c)	 ifjogu dh miyCèkrk	 (d)	 de vkS|ksfxd cfLr;k¡

5.	 Who among the following was not associated with widow remarriage ?		
(a)	 Ishwar Chandra Vidyasagar	 (b)	 Swami Dayanand Saraswati	  
(c)	 Dr. B.R. Ambedkar	 (d)	 Veeresalingam Kandukuri	  
fuEufyf[kr esa ls dkSu] fo/ok iqufoZokg ls lac¼ ugha Fkk\					  
(a)	bZ'oj panz fo|klkxj	 (b)	 Lokeh n;kuUn ljLorh			 
(c)	 Mk-ch- vkj vEcsM+dj	 (d)	 ohjlfyaxe dUnqdqjh

6.	 Who was the Chief architect of the Rashtrapati Bhawan, Parliament House 
and India Gate?	  
(a)	 Samuel Jacab	 (b)	 Edwin Lutyens	  
(c)	 Charles Wyatt	 (d)	 Henery Irwin	  
jk"Vªifr Hkou rFkk bafM;k xsV dk izeq[k dkSu Fkk\		  
(a)	lSeqvy tsdc	 (b)	 ,Mfou yqfV;u				  
(c)	 P+kkYlZ O;kV	 (d)	 gsujh bjfou
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7.	 Which one of the following statements about the Congress session of 

1929 is correct?		   

(a)	 It was presided over by Mahatma Gandhi.	  

(b)	 This session took place in Amritsar	. 

(c)	 The historic resolution of 'Complete independence' for India was passed  

	 in this session.	  

(d)	 It was decided to celebrate 15th August 1930 as the first Independence  

	 day of India.		   

1929 ds dkaxzsl vf/os'ku ls lacaf/r fuEufyf[kr dFkuksa esa ls] dkSu lk dFku  

lR; gS\								      

(a)	bldh vè;{krk egkRek xkaèkh us dh FkhA						    

(b)	;g vf/os'ku ve`rlj esa gqvk FkkA							     

(c)	 iw.kZ LojkT; dk ,sfrgkfld izLrko blh vf/os'ku eas ikfjr fd;k x;kA		

(d)	;g fu.kZ; fy;k x;k fd 15 vxLr 1930 dks Hkkjr dk izFke Lora=krk fnol  

	 euk;k tk,xkA

8.	 Who among the following was the only President of free India to have been 

elected for two consective terms?							     

(a)	 Dr. Rajinder Prasad	 (b)	 Dr. Zakir Hussain			 

(c)	 Dr. S. Radha Krishnan	 (d)	 Dr. Shankar Dayal Sharma	

fuEufyf[kr esa ls Lora=k Hkkjr ds dkSu ls ,d ek=k jk"Vªifr fujarj nks ckj pqus x, \

(a)	Mk- jktsUnz izlkn	 (b)	 Mk- tkfdj gqlSu			

(c)	 Mk- loZiYyh jk/kÑ".ku	 (d)	 Mk- 'kadj n;ky 'kekZ

9.	 Cases related to disputes arising between the Union Government and 

the States come under which jurisdiction of the Supreme Court ?	  

(a)	 Advisory Jurisdiction	 (b)	 Original Jurisdiction	  

(c)	 Appellate Jurisdiction	 (d)	 Supervisory Jurisdiction			   

la?k ljdkj vkSj jkT;ksa ds chp gksus okys fookn] loksZP; U;k;y; ds fdl vf/dkj 

{ks=k ds varxZr vkrs gSa\							     

(a)	ijke'kZnk=kh vf/dkj {ks=k	 (b)	 izkjafHkd vf/dkj {ks=k			 

(c)	vihy laca/h vf/dkj {ks=k	 (d)	 v/h{k.k lEca/h vf/dkj {ks=k

1

1

1



(4)VIII-SOCIAL SCIENCE

10.	 The term "Creamy layer" is used for the.	 
(a)	 relatively wealthier people among minorities.		   
(b)	 very rich and highly educated people of the majority community.	  
(c)	 Scheduled castes and Scheduled Tribes		   
(d)	 relatively wealthier and better educated amongst the backward classes. 
^Øheh ys;j* dk iz;ksx fuEufyf[kr esa ls fdl fy, mi;qDr gS\		   
(a)	vYila[;kdksa esa vis{kkÑr vf/d lEiUu oxZA	  
(b)	cgqla[;d leqnk; ds vfÙklEiUu rFkk mPp f'k{kk izkIr oxZA		   
(c)	vuqlwfpr rFkk tkfr;ka rFkk vuqlwfpr tu tkfr;kaA	 
(d)	fiNM+s oxks± esa vis{kkÑr vf/d lEiUu ,oa f'kf{kr oxZA

11.	 Highlight any three main features of extensive agriculture.			 
foLr`r Ñf"k dh fdUgha rhu fo'ks"krkvksa dks mtkxj dhft,A

12.	 How do the climate and relief features affect the agriculture of a 
particular place?	  
tyok;q vkSj LFkykÑfr;ka fdl izdkj fdlh LFkku dh Ñf"k dks izHkkfor djrs gSa\

13.	 Bring out any three distinctions between cottage industries and large scale 
industries.								      
dqVhj m|ksxksa rFkk fo'kky m|ksxksa esa dksbZ rhu varj Li"V dhft,A

14.	 Identify any three major factors that have helped Gujarat and Maharashtra to 
become leading industrial states of India.						    
xqtjkr vkSj egkjk"Vª dks vxz.kh vkS|ksfxd jkT; cukus esa lgk;d fdUgha rhu izeq[k 
dkjdksa dh igpku dhft,A

15.	 "Railways were introduced in India for the benefit of the British  
administration". Do you agree with the statement? Support your answer  
with any three suitable examples.							     
^Hkkjr esa jsyos dh 'kq#vkr fczfV'k iz'kklu ds ykHk ds fy, dh xbZ FkhA* D;k vki 
bl dFku ls lger gSa\ vius mÙkj dh iqf"V fdUgha rhu mnkgj.kksa }kjk dhft,A

16.	 How did the Moderates in the early phase of Congress, differ from the Radicals 
in their approach to pursue their goals?						      	
vius mís';ksa dh iwfrZ ds fy, viuk, tkus okys lk/uksa dh n`f"V ls] dkaxzsl ds igys 
pj.k ds mnkjoknh] ifjoZruokfn;ksa ls fdl izdkj fHkUu Fks\
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17.	 State any three provisions of the Indian Independence Act. of 1947.	  

Hkkjrh; Lora=krk vf/fu;e] 1947 ds fdUgha rhu izko/kuksa dk mYys[k dhft,A

18.	 Who acts as the ex-offico chairman of Rajya Sabha? Mention any two main 
functions that he/she performs.							     

jkT;lHkk dk isnu lHkkifr dkSu gksrk gS\ mlds fdUgha nks izeq[k dk;ks± dk mYys[k 
dhft,A

19.	 What qualifications are required to be eligible to become a judge of the  
Supreme Court of India? Under what circumstances can he/she be removed 

and how?		 						    
Hkkjr ds loksZPp U;k;ky; dk U;k;/h'k cuus ds fy, D;k ;ksX;rk,¡ gksuk vfuok;Z 
gSa\ fdlh U;k;/h'k dks fdu ifjfLFkfr;ksa esa mlds in ls gVk;k tk ldrk gS vkSj 
dSls\

20.	 How does the mid day meal scheme promote education for all at the elementary 
stage?								      

eè;kUg Hkkstu ;kstuk fdl izdkj ls izkjafHkd Lrj ij loZ f'k{kk dks c<+kok nsrh gS\

21.	 What is meant by 'Prevention of Atrocities Act'? Enlist any four offences 
punishable under this Act.	  						    
^vR;kpkj fojks/h vf/fu;e* ls D;k vfHkizk; gS\ blds varxZr vkus okys fdUgha pkj 
n.Muh; vijk/ksa dks lwphc¼ dhft,A

22.	 Why should we conserve our mineral resources? Suggest any three measures 
to conserve our depleting mineral resources.						       
gesa gekjs [kfut lalk/uksa dk laj{k.k D;ksa djuk pkfg,\ gekjs ?kVrs gq, [kfut lalkèkuksa 
ds laj{k.k gsrq dksbZ rhu mik; lq>kb,A

23.	 Define Sex ratio. Explain any four reasons responsible for the decline of sex 
ratio in India.							     
fyax vuqikr dh ifjHkk"kk fyf[k,A Hkkjr esa fyax vuqikr esa fxjkoV ds fdUgha pkj 
dkj.kksa dks Li"V dhft,A

OR (vFkok)

	 Define density of population. Explain any two physical and economic factors 
each that affect the distribution of population.						   

tula[;k ?kuÙp dh ifjHkk"kk fyf[k,A tula[;k dks izHkkfor djus okys fdUgha nks 
HkkSfrd rFkk nks vkfFkZd dkjdksa dh O;k[;k dhft,A
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24.	 How did the printing press play a pivitol role in the surgence of national 
conciousness and cultural unity in India? Explain.					   

Hkkjr esa jk"Vªh; tkx:drk ds mRFkku rFkk lkaLÑfrd ,drk ds fy, fiazfVx izSl us 
fdl izdkj ,d egÙoiw.kZ Hkwfedk vnk dh\ O;k[;k dhft,A

25.	 Highlight any five important contributions made by the revolutionaries  
during India's struggle for Independence.							     

Hkkjrh; Lora=krk laxzke esa Økafrdkfj;ksa }kjk fd, x, ;ksxnku ds fdUgha ikap fcUnqvksa 
dks mtkxj dhft,A

OR (vFkok)

	 Describe the incidence of Jallianwala bagh massacre. What impact did it have 
on the freedom struggle in India?								      
tfy;kaokyk ckx ujlagkj dh ?kVuk dk o.kZu dhft,A bldk Hkkjr ds Lora=krk laxzke 
ij D;k izHkko iM+k\

26.	 What does the foreign policy of a country reflect? Who was the chief architect of 
India's foreign policy? Enlist any six basic features of India's foreign policy. 	
fdlh ns'k dh fons'k uhfr D;k ifjyf{kr djrh gS\ Hkkjr dh fons'k uhfr ds izeq[k 
fuekZrk dkSu Fks\ Hkkjr dh fons'k uhfr dh fdUgha N% izeq[k uhfr;ksa dks lwphc¼ 
dhft,A

27.	 Explain the executive powers and the financial powers of the President of 
India.			   						    
Hkkjr ds jk"Vªifr dh dk;Zdkjh rFkk foÙkh; 'kfDr;ksa dh O;k[;k dhft,A

OR (vFkok)

	 Why is the Prime Minister of India called the pivot around which the whole 
administeration revolves? Explain. 								      
Hkkjr ds iz/kuea=kh dks ,d ,slh /qjh D;ksa dgk x;k gS ftlds pkjksa vksj iwjk iz'kklu 
?kwerk gS\ Li"V dhft,A

28.	 Highlight the significance of Lok Adalat in imparting justice to the common 
man in India?						      		
Hkkjr esa vke vkneh dks U;k; fnyokus esa yksd vnkyr dk D;k egÙo gS\
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29.	 How has the Bishnoi community contributed more to the environment and 
wildlife Preservation than the entire country put together? Explain what 
message do they want to spread to the world? 					   
fc'uksbZ vkfnoklh leqnk; dk i;kZoj.k o oU; thou laj{k.k ds {ks=k esa fn;k x;k 
;ksxnku fdl izdkj laiw.kZ jk"Vª ds ;ksxnku ls Hkh vf/d gS\ os fo'o dks D;k lans'k 
nsuk pkgrs gSa\

30.	 (i)	 Two features A and B are shown in the political map of India.  
	 Identify these features with the help of following information and  
	 write their names on the lines marked on the map.	  
	 (A)	 The place where moderates and radicals reunited and signed a joint  
		  pact with the Muslim League.	 
	 (B)	 The Place where formation of Indian National Congress took  
		  place in 1885.		   
(ii)	 On the same outline Policital map of India locate and label the  
	 following place :				     
	 (C)	 Kerala : The State where Sh. Narayan Guru Campained against  
		  the caste system.							     
(i)	 Hkkjr ds jktuhfrd ekufp=k ij nks y{k.k A rFkk B n'kkZ, x, gSaA uhps nh xbZ  
	 lwpuk ds vkèkkj ij mUgsa igpkfu, rFkk muds lgh uke nh xbZ js[kkvksa ij  
	 fyf[k, &							        
	 (A)	og LFkku tgk¡ mnkjoknh rFkk mxzoknh fiQj ls feys vkSj eqfLye yhx ds lkFk  
		  la;qDr le>kSrs ij gLrk{kj fd;sA						    
	 (B)	og LFkku tgka 1885 esa dkaxzsl dh LFkkiuk gqbZA	  
(ii)	fn, x, mlh ekufp=k ij fuEufyf[kr y{k.k dks vafdr dhft, rFkk mldk  
	 uke fyf[k, &								      
	 (C)	dsjy & og jkT; tgka Jh ukjk;u xq: us tkfr izFkk ds fo:èk vfHk;ku  
		  NsM+kA

	 For visually impaired students only in lieu of Q. No. 30	  
ç-la- 30 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'u 
(i)	 Where did Jallianwala bagh massacre take place?	  
(ii)	 Where did Gandhiji break the Salt law?	  
(iii)	 Where did the Congress split-up into moderates and radicals in 1907?	  
(i)	 tfy;kaokyk ckx ujlagkj dgka gqvk Fkk\	  
(ii)	xka/h th us ued dkuwu dgka rksM+k Fkk\	  
(iii)	1907 esa mnkjokfn;ksa rFkk mxzokfn;ksa ds :i esa dkaxzsl dk foHkktu dgka  

	 gqvk Fkk\

5

2+1=3



(8)VIII-SOCIAL SCIENCE

31.	 (i)	 Two features (A) and (B) are marked on the given political outline map  

	 of the world. Identify these features with the help of the following  

	 information and write their correct names on the lines marked on the  

	 map.							        

	 (A)	 An important cotton textile manufacturing country in North  

		  America.	  

	 (B)	 An important iron and steel manufacturing country in Asia.	  

(ii)	 On the same outline political map of the world, locate and label the  

	 following with appropriate symbols.					      

	 (C)	 Chile – An important Copper producing country.	  

	 (D)	 Australia – An important Bauxite producing country.		

(i)	 lalkj ds jktuhfrd js[kk ekufp=k ij nks y{k.k (A) rFkk (B) n'kkZ, x, gSaA uhps  
	 nh xbZ lwpuk ds vkèkkj ij mUgsa igpkfu, rFkk muds lgh uke nh xbZ js[kkvksa  
	 ij fyf[k,A	  
	 (A)	mÙkjh vejhdk dk ,d egRoiw.kZ lwrh oL=k mRiknd ns'kA	  
	 (B)	,f'k;k dk ,d egRoiw.kZ yksg&bLikr mRiknd ns'kA	  
(ii)	fn, x, lalkj ds mlh jktuhfrd ekufp=k ij fuEufyf[kr dks mi;qDr fpg~uksa }kjk  
	 fn[kkb, rFkk muds uke fyf[k,A		   
	 (C)	fpyh & ,d egRoiw.kZ rkack mRiknd ns'kA	  
	 (D)	vkLVªsfy;k & ,d egRoiw.kZ ckDlkbV mRiknd ns'kA

	 Alternative question for visually impaired students in lieu of Q. No. 31	  
ç- la- 31 ds LFkku ij n`f"V ckfèkr fo|kfFkZ;ksa ds fy, oSdfYid iz'uA	  
31.1.	Mention an important Bauxite producing country in Asia.	  
31.2.	Name a Coal producing country in Europe.	  
31.3.	Name an important Iron and Steel manufacturing country in South  
	 America.		
31.4.	Which city in India is known ans Manchester of India?	  
31-1-	,f'k;k ds ,d ckDlkbV mRiknd ns'k dk uke fyf[k,A	  
31-2-	;wjksi ds ,d dks;yk mRiknd ns'k dk uke fyf[k,A	  
31-3-	nf{k.k vesjhdk ds ,d egRoiw.kZ ykSg&bLikr fuekZrk ns'k dk uke fyf[k,A	  
31-4-	Hkkjr ds fdl uxj dks ^Hkkjr dk esupSLVj* dgk tkrk gS\
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Roll No. (vuqØekad) ____________________
Map for Question No. 30(a) [ç-la- 30 ds fy, ekufp=k]

India-Political (Hkkjr&jktuhfrd)
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Roll No. (vuqØekad) ____________________
Map for Question No. 31 [ç-la- 31 ds fy, ekufp=k]

World-Political (lalkj&jktuhfrd)
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